
Suche&wurde&ursprünglich&formuliert&als&finden&in&Mengen&

=>&Union;Find&Srukturen&op>miert&auf&Mengenzugehörigkeitsberechnung&

1&

Viele&(!)&disjunkte&Mengen&

Fragestellung:&Sind&zwei&Elemente&in&gleicher&Menge?&

⇒ Haben&zwei&Elemente&den&gleichen&Repräsentanten?&

;&MakeSet:&Konstruktor,&erzeugt&einelemen>ge&Menge&

;  Union:&Vereinigung&von&zwei&Mengen&

;  Find:&Finde&Repräsentanten&der&Menge&

2&



3& 4&



5&

Vater&von&Wurzel&ist&Wurzel&selbst!&

⇒ einziger&Knoten,&dessen&Vater&er&selbst&ist,&ist&die&Wurzel&&

⇒ Eindeu>ge&Iden>fika>on&der&Wurzel!&

6&



3&disjunkte&Mengen,&Repräsentanten&5,&4&und&7!&

7&

O(1)&Aufwand&

8&



Rekursives&Aufsteigen&zur&Wurzel&

Aufwand:&O(log&|S_x|),&wenn&Bäume&balanciert&sind&

9& 10&



Setze&Teilbaum&mit&Repräsentanten&q,&als&Sohn&von&r&

Problem:&Wie&Balance&halten?&

11& 12&



13& 14&



15&

Wir&hängen&niedrigeren&Teilbaum&an&höheren.&

16&



17&

Falls&Bäume&die&gleiche&Höhe&haben,&wird&die&Gesamthöhe&um&1&erhöht&

18&



19& 20&



a(n)&ist&im&Erwartungsfall&eine&Konstante,&im&Worst;Case&allerdings&logarithmisch.&

21&


